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SECTION-A {Cmnpulsur}r}
1. Choose the correct option;

2x15=3p
(i) Cost Audit wag ﬁrsljntmduced for industry.
(A) Cemeni

(B} Tron and Steel
(C) Jute
(D) Sugar

Uumpany 18 under the Purview of regulated
Sector?

(A) Engaged in Generation

(B) Engaged in Transmissjon

(C) Engaged in Distribution yn Supply

(D) All of the above

(111) Every Cost Auditor, whe conducts an auqj; of

the cost fecords of y company, shall
submit the ¢ogq audit report i Form '
(A) CRA-1
(B} CRA-2
(C) CRA-3
(D) CRA4
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of the

Auditor 18 defined under Seraon: _ e

The appointment of Cost
Companics Act, 2013.

(A) 148(2)
(B) 148(3)
(©) 14403)

(iv)

5, 2014, the casual

(D) 139
ords and Audit) Rule
_ days.

6 of the Cornpanies (Cost Rec
led within___————

(v) As per Rule
ed duc o death of Cost Auditor to be fil

yacancy caus
(A) 30

(B) 60

(C) 90

deals with -
gelling and Distribation Overheads
rlisation

(A)
(B) Depreciation and Amo

(C) Interest and Finance Charges

(D) Research and Development Cost
hich employees are paidfpayabic o employees

ed against cost objecls -

nce between the tume {or W

(vii) The differc
ime book

and the eraployees’ L
(A) Normal labour hours
(B) Working time

(C) Idle time

(D) Unpaid time
Cost as pet CAS-T!

(viit) Which of the following is not part of the BEmployee
(A) Leave with pay
(B) Medical benefits 10 the employees and dependents

for lay-off period

(C) Compensation
yees’ Stock Option

(D) Cost of Emplo
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(ix) Which of the Foﬂuwjng st

atements i3 trpe about Managemen; Andit?
(A} The Management andjt i made ¢

Ompulsory angd statutory,
(B) Managemen; audit is Programme of

(9 Managemen; audit cannot pe conducie

(D) No time limjt can he

(X) The backbone of any organisation jg

=
(A) Inf ortmation

(B) Employec
{C) Management
(D) Capital

(xi) Which ope

of the fnﬂﬂwing KPI is used to
labour?

Measure the prodyct vity and efficiency of

(A) Production Per machine houy

(B) Contribution PEr unit of materia]
(C) Production Per man-hoyy

(D) Growth i machine Capacity utilization

(X)) The Consumer service

audit Critically ex
(A)

amines:
Dutsramiing payment of COnstmers

(B) Price Consumers gre ready to pay for p

(C) Appraise management of businegs eng
(D) Demand of

articular produeg Service

erprise of fesponsibility Wowards consumers
4 product by consumers

(xiii) Field Balance Sheey approach ty

(A) Societieg registered

(B) Self-Help Group for collective ey
(C) Local Body

Audit can pe applied in cage of audit
as Club.

rning,
regisiered ag Corporate.

(D) Cooperative Societies registered under specific law ip torce,



p-17(CMAD) (4)
Syllabus 2022

(xiv) Which of the following is not likely to be a fraud risk factor relating to management
characteristics”
(A) Tax evasion
(B) Failure © correct known weakness 1n internal control system

(C) Adoption of conservative accounting principles

(D) High management trnover

(xv) Which of the following 18 not prescribed in the provision of the Prevention of Money
Laundering Act, 20027

(A) Serzure of Property

(B) Attachment of Property

() Confiscation of Property

(D) Life Impﬁsanmcm

SECTION-B

(Answer any five questions out of seven questions given. Each question carries 14 marks.)

5. (a) What aré the bencfits of Cost Audit? '

(b) Explain the term «Normal capacity yis a vis installed capacity” as defined in the Form

CRA L. 7

3. (a) State the procedure of appointment and fixing the remuneration of Cost Auditor, 7
(b) What are the important factors to be consi dered in plapning the Cost Audit Assignment?

T

4. (a) Purchase of Materials Z 400,000 (inclusive of GST of F 20,800; Fee on Board< ] 8,000,
fraport Duty paid ¥ 12,0003 Freight inwatd ¥ 22,000; Insurance paid for import by sed

7 12,000; Rebatcs allowed X 6,000; Cash discount T 4,000; Subsidy received from the

Government for importation of these materials T 972.000. Compute from the foregoing
7

data the landed cost of material (i.e. value of receipt of material).



{5 P17 CMAD)
Syllabus 2022

Cost Aundiy according to the Companies (Cost Records and Audit) Rules, 2014, From

the expenditure data relating to 2022-23, determine (he Employees Cost according to
Cost Accnunting Standard-7,

Particulars
e, o
Salary, Wages and other allowances

—
Contribution to Provident Fung

N
ages o contractor’s employees

VRS payment for closure of Rod Irop section of the

plant to the extent not amortized
=

Compensation paid against the Past periods againgt

Court order

R e R

Arrear Salary for the year 2021-22

3. (a) ABC Ltd. showed 3 profit for the year 2022-23 45 7 37.46,700. During the course of
Cost Audit, the following transactions were noticed:

(1) Anold machine with pet value of ¥ 7,54,000 was sold off for ¥ 10,50,000.
(if) Dividend income Wwas received amounting to ¥ 97,500 from investments,

(iii) A sumofZ 67,000 was spent towards CSR commitment.
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(iv) The compamy was engaged In trading activity where purchase of goods was
Z 14.50,000 and sales was 7 14,42,700, after incurring ¥ 40,500 as expenditure.

(v) Some renovation work was carried out at a cost of Z 8,50,000 and its useful life
was only for five years.

(vi) The closing inventory of raw material was undervalued- ¥ 28,000 and that of
finished goods was overvalued- T 67,800 in the financial records.
Work out the Profit as per the Cost Accounts. 7

(b) In a company, the Management on & S0UrCe information, is of the view that there is
embezzlement of cash receipts. As 4 Forensic Auditor how would you proceed 10
verify? T

6. (a) The Cost Audit Report in CRA 3 as submitted by the Cost Auditor contains more of
Management Audit Basics than mere data of production and services. Comment 00
the same justifying reasons. 7

(b) Whatis Cyber gecurity and Computer Forensics? Explain the difference between the
two. 7
7. (a) XYZ Lid., has planned for an investment of 1,000 lakh with a 50% loan from Banks
at 125 interest.
Direct Cost for the ycat 7 580 lakhs, 50% of which 18 Material Cost.
Other expenses arc at Z 100 lakh. The goods will be sold at 150% of the direct cost.
The tax rate 18 assumed at 30%.

Y ou are required Lo determine:
(i) Net profit mnargin
(it) Retum on Assets
(iii) Return on owner's equity
(iv) Assel Turnover

(v) Inventory Turnover T

(b) How do you evaluate the Personnel Development? Explain in detail. 7
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8. (a) What is the fiecessity of Internal Audit? Explain. 7
(b) State the special

Steps to be takep by the

Institution and that of students,

Auditor related to the audit of gn Educationa]

7






